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Read the following instructions carefully before you answer the questions.
	 (1)	 This question paper contains two sections. In Section I there are 1 to 25 questions of First Language 

and in Section II there are 26 to 75 questions of Mathematics. All 75 questions are compulsory.
	 (2)	 All questions carry 2 marks each.
	 (3)	 Time limit to solve the question paper is 90 minutes.
	 (4)	 Separate answer sheet is given to record the answers. Each question has been given four alternatives. 

Read them carefully. Select the correct answer and shade the correct answer in the answer sheet.
		  Example :– If the correct alternative for Q. No. 6 is 2, then record your answer as follows:

Question No. 6    
	 (5)	 Answer recorded in any other form will not be considered. Such answer will be credited with 'Zero' mark.
		   Example:     
	 (6)	 Use blue or black ball pen to darken the circle. Pencil is not allowed. Circles darkened by pencil will 

not be credited.
	 (7)	 Once you have darkened the circle as correct alternative you cannot change it.
	 (8)	 If more than one circles are darkened or overwriting is done, the answer will not be accepted.
	 (9)	 The rough work is to be done in the space given under each page or on the last page of the question 

paper.
	 (10)	 If you do not know the answer to any question, do not spend much time on it and pass on to the next 

one. If the time permits you can come back to the question which you have left in the first instance 
and try them again.

	 (11)	 If you find any question incomplete or with error, then do not ask anything to the Supervisor or Centre 
Incharge.

	 (12)	 For any error/mistake/objection issues, school or parents should not send written application to Block 
Education Officer or Education Officer. These error/ mistake/objection issues should be register 
online through respective school login only.

	 (13)	 The error/ mistake/ objection issues should be register online within 10-days from the publication of 
Interim answer key on MSCE website.

	 (14)	 Questions can be cancelled due to printing mistake or any other reason, on the basis of the suggestions 
given by the Committee of Experts.

	 (15)	 Along with the question paper of the respective medium, the English version of question paper is also 
provided. In case of doubt please refer to the English version of the same question.
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foHkkx I
izFke Hkk"kk

iz'u 1 ls 3 osQ fy, funsZ'k % fuEufyf[kr ifjPNsn dks è;kuiwoZd i<+dj ml ij iwNs x;s 

iz'uksa osQ lgh mÙkj crkb,A

rfeyukMq osQ if'peh fdukjs ij clk jkes'oje~ xk¡o] ;gk¡ fLFkr f'koeafnj osQ dkj.k izfln~/ FkkA ;gk¡ 

osQ yksxksa dh ,slh /kj.kk gS fd Hkxoku Jhjkepanz th us bl Hkwfe ij vius pj.k j[ks FksA blh xk¡o esa 

15 vDVwcj 1931 dks vCnqy uked ckyd dk tUe gqvk FkkA vCnqy osQ firk] jkes'oje~ ls /uq"dksMh 

rd ;kf=k;ksa dks ykus rFkk ys tkus dk dk;Z djrs FksA ;gh mudh vk; dk izeq[k lk/u Fkk] ftl ij 

mudk iwjk ifjokj vkfJr FkkA ,d fnu rst rwIkQku vk;k ftlds dkj.k jkes'oje~ osQ fdukjs cls yksxksa 

dh tku&eky dk Hkkjh uqOkQlku gqvkA blh rwIkQku dh pisV esa vCnqy osQ firk dh uko Hkh vk x;h] 

tks iwjh rjg u"V gks x;hA ,slh fodV ifjfLFkfr esa vCnqy us beyh osQ cht nqdkuksa ij cspdj rFkk 

lekpkj i=k cspus esa vius ekSlsjs HkkbZ dh enn djds igyh dekbZ dhA blh rjg ls vCnqy us vius 

ifjokj dh ftEesnkjh mBk ikus esa leFkZ gksus dk vkuan izkIr fd;kA

	 1.	 jkes'oje~ xk¡o fdl eafnj osQ dkj.k izfln~/ Fkk\

	 (1)	 jke&efUnj 	 (2)	o`Q".k&efUnj

 	 (3)	fr:ifr&efUnj	 (4)	f'ko&efUnj

	 2.	 fdlosQ fdukjs cls yksxksa osQ tku&eky dk Hkkjh uqOkQlku gqvk\

	 (1)	 jkes'oje~	 (2)	rfeyukMq

	 (3)	/uq"dksMh	 (4)	egkjk"Vª
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	 3.	 mi;qZDr ifjPNsn esa ^dfBu* osQ fy, fdl 'kCn dk iz;ksx fd;k x;k gS\

	 (1)	/kj.kk	 (2)	uqoQlku

	 (3)	fodV	 (4)	Hkkjh

iz'u 4 lss 5 osQ fy, % uhps nh xbZ dfork dks i<+dj iwNs x;s iz'uksa osQ mÙkj fyf[k, %

		 ,d lcd nsrk gS >juk] dy&dy dj c<+rs tkukA

		 iFk esa tks ck/k,¡ vkbZa] fuHkZ; cu muls VdjkukA

		 eu esa gks mRlkg lkeus y{;] Fkdu dk uke u yksA

		 Fkddj :duk ekSr] ftanxh pyus esa gh lq[k ikukAA

				   ,d lcd nsrk gS nhid] fry&fry djosQ feV tkukA

				   viuk rsy tykdj] tx ls nwj v¡/sjk dj tkukA

				   [kqn >syks rdyhIkQ] nwljksa dk fIkQj Hkh midkj djksA

				   feVrs&feVrs Hkh] HkVosQ ifFkdksa dks jkg fn[kk tkukAA

	 4.	 gesa vkxs c<+rs tkus dh lh[k fdlls feyrh gS\

	 (1)	 iFk ls 	 (2)	>jus ls

 	 (3)	nhid ls 	 (4)	mRlkg ls

	 5.	 Fkddj #duk fdlds leku gS\

	 (1)	 nhid osQ 	 (2)	y{; osQ

 	 (3)	>jus osQ	 (4)	ekSr osQ

	 6.	 ^esjh deht cgqr lqanj gSA* okD; esa laKk 'kCn igpkfu,%

	 (1)	esjh 	 (2)	cgqr

	 (3)	deht 	 (4)	lqanj
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	 7.	 ^eq>s /kfeZd iqLrosQa i<+uk vPNk yxrk gSA* okD; esa fo'ks"k.k 'kCn igpkfu,%

	 (1)	eq>s 	 (2)	/kfeZd

	 (3)	vPNk 	 (4)	iqLrosQa

	 8.	 fuEufyf[kr esa ls dkSu&lk 'kCn L=khfyax ugha gS\

	 (1)	ekyh	 (2)	'ksjuh

	 (3)	pqfg;k	 (4)	csVh

	 9.	 fuEufyf[kr esa ls foLe;kfncks/d fpg~u igpkfu, %

	 (1)	;	 (2)	!

	 (3)	|	 (4)	?

	10.	 fn, x;s 'kCnksa esa ls milxZ;qDr 'kCn igpkfu, %

	 (1)	ikunku	 (2)	nqdkunkj

	 (3)	miu;u	 (4)	n;koku

	11.	 fuEufyf[kr eqgkojs dk vFkZ crkus okyk mfpr i;kZ; pqfu, %

		 jax esa jax tkukA

	 (1)	jax ys vkuk	 (2)	izfrKk djuk

	 (3)	lko/ku jguk	 (4)	izHkko esa vkuk

	12.	 ^canj D;k tkus ---------------- dk LoknA* NwVs 'kCn osQ fy, mfpr i;kZ; pqfu,%

	 (1)	vke	 (2)	ve:n

	 (3)	vaxwj	 (4)	vnjd
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iz'u 13 lss 15 osQ fy, % fuEufyf[kr laokn dks è;kuiwoZd if<+, vkSj ml ij iwNs x;s iz'uksa 

osQ mfpr mÙkj crkb, %

fouksn%	 ns'k dk fodkl] lekt osQ vanj vkilh lg;ksx vkSj O;fDr dk pfj=k vkfn oqQN ,slh ckrsa 

gSa ftuds ckjs esa lHkh dks fopkj djuk pkfg,A

vfuy%	 O;fDr ls ifjokj] ifjokj ls lekt vkSj lekt ls jkT; curk gSA blfy, O;fDr dks pfj=k 

fuekZ.k osQ ckjs esa lkspuk pkfg,A

ehuk%	 O;fDr dks pfj=k osQ vykok 'kkjhfjd LokLF;] ekufld larqyu] vkilh lg;ksx dk Hkh è;ku 

j[kuk pkfg,A

izse%	 ns'k&izse] ekuo&izse] izòQfr&izse vkfn ckrsa Hkh fodkl dk vfHkUu vax gksuh pkfg,A vxj 

mijksDr fo"k;ksa dks ge lHkh lnk ;kn djrs jgsa rks vo'; ykHk gksxk vkSj vkuan feysxkA

yrk%	 ns'k dh j{kk] vkradokn ls cpko] lapkj ekè;eksa dk izlkj òQf"k&{ks=k esa oSKkfud iz;ksx vkfn 

dbZ fo"k; ,sls gSa ftu ij gesa ckj&ckj fopkj djuk gksxkA

	13.	 laokn esa oqQy fdrus yksxksa us Hkkx fy;k\

	 (1)	ik¡p	 (2)	pkj

	 (3)	rhu	 (4)	nks

	14.	 jkT; fdlls curk gS\

	 (1)	O;fDr ls	 (2)	lekt ls

	 (3)	pfj=k ls	 (4)	lg;ksx ls

	15.	 ns'k&izse] ekuo&izse] izo`Qfr&izse vkfn ckrsa fdldk vfHkUu vax gksuh pkfg,\

	 (1)	fodkl dk	 (2)	fouk'k dk

	 (3)	lg;ksx dk	 (4)	izo`Qfr dk
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	16.	 ^nwjèofu* dks cksypky dh Hkk"kk esa D;k dgrs gSa\

	 (1)	eksckby	 (2)	ysiVkWi

	 (3)	VsyhIkQksu	 (4)	baVjusV

	17.	 fuEufyf[kr esa ls dkSu lk 'kCn lw;Z dk lekukFkhZ ugha gS\

	 (1)	jfo	 (2)	HkkLdj

	 (3)	ty/j	 (4)	vkfnR;

	18.	 uhps fn, x;s fo#n~/kFkhZ 'kCnksa dh lgh tksM+h igpkfu,A

	 (1)	vkt × vHkh	 (2)	fnu × 'kke

	 (3)	ljy × lgt	 (4)	v'kDr × l'kDr

	19.	 fuEufyf[kr 'kCn&lewg osQ fy, ,d 'kCn crkb,% 

		 phaVh osQ jgus dh txg&

	 (1)	?kkslyk	 (2)	ckWch

	 (3)	xqIkQk	 (4)	NÙkk

	20.	 fuEufyf[kr esa ls dkSu&lk 'kCn] 'kCn&;qXe ugha gS\

	 (1)	egkor	 (2)	xq.kk&Hkkx

	 (3)	ukSdj&pkdj	 (4)	iwtk&ikB
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	21.	 fuEufyf[kr v{kjksa osQ esy ls ,d vFkZiw.kZ 'kCn rS;kj dhft,%

		 lk] u] e] lk] /k] xzh

	 (1) 	lkexzh lku/	 (2)	/ulk uxzhlk

	 (3) 	lk/u&lkexzh	 (4)	lk/u xzhelk

	22.	 fuEufyf[kr 'kCnksa dks o.kZozQekuqlkj fy[kdj rhljs LFkku ij vkusokyk 'kCn crkb,%

		 vfuy]   vfHkuo]   vf[kys'k]   vuqjkx

	 (1) 	vuqjkx	 (2)	vfuy

	 (3) 	vf[kys'k	 (4)	vfHkuo

	23.	 lfpu rsaMaqydj dks bl uke ls Hkh tkuk tkrk gSA

	 (1)	fyfVy ekLVj	 (2)	caxky Vkbxj

	 (3)	xq#nso	 (4)	ekLVj CykLVj

	24.	 ^jhrk esjh IkqQIksQjh cgu gSA eSa mlosQ ---------------- dk yM+dk gw¡A*

		  fjDr LFkku osQ fy, mfpr i;kZ; pqfu,A

	 (1)	IkwQiQk	 (2)	ekek

	 (3)	pkpk	 (4)	ekSlk

	25.	 fuEufyf[kr esa ls xyr tksM+h dk i;kZ; pqfu,%

	 (1)	eksj & osQ&osQ	 (2)	oqQÙkk & HkkSa&HkkSa

	 (3)	pkrd & pw¡&pw¡	 (4)	cdjh & esa&esa
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foHkkx II

xf.kr

	26.	lk<+s vM+rhl gtkj $ lok rhu lkS $ ikSus ,d lkS ¾\  

	 (1) 	38,900	 (2)	 39,600	 (3) 	38,625	 (4)	38,800

	27.	uhps nh x;h la[;kekyk dk ozQe igpku dj iz'ufpUg osQ LFkku ij vkus okyh la[;k 

fyf[k,A ml la[;k osQ okpu osQ fy, ;ksX; i;kZ; pqfu, %

	  	417805        	 \        417797        	417793

	 (1)	pkj yk[k l=kg gtkj vkB lkS	 (2)	,drkfyl yk[k lkr gtkj bD;klh

	 (3)	pkj yk[k ,d gtkj vkB lkS ,d	 (4)	pkj yk[k l=kg gtkj vkB lkS ,d

	28.	 fdlh la[;k dk frgkbZ 33 gS] rks og la[;k dkSu&lh gS\

	 (1) 	99	 (2)	 11	 (3) 	36	 (4)	30

	29.	nks lekarj js[kk,¡ ,d nwljs ------------------------

	 (1)	dks izfrPNsfnr djrh gSa	 (2)	dks c<+kus osQ ckn izfrPNsfnr djrh gSa

	 (3)	dks dHkh Hkh izfrPNsfnr ugha djrha	 (4)	ij yac gksrh gSa
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Section II

Mathematics

	26.	 Thirty eight and half thousand + Three and a Quarter hundred + Three 
quarter hundred=?

	 (1) 	38,900	 (2)	 39,600	 (3) 	38,625	 (4)	38,800

	27.	 Observe the number series and select the appropriate number, which is 
written in words, from the alternatives given below.

	  	417805        	 \        417797        	417793

	 (1) 	Four lakh seventeen thousand and eight hundred.

	 (2)	 Forty-one lakh seven thousand and eighty-one

	 (3) 	Four lakh one thousand eight hundred and one.

	 (4)	 Four lakh seventeen thousand eight hundred and one.

	28.	 One-third part of a number is 33, find the number.

	 (1) 	99	 (2)	 11	 (3) 	36	 (4)	30

	29.	 Two parallel lines ___________________ each other.

	 (1) 	intersect	 (2)	 after extending, intersect

	 (3) 	never intersect	 (4)	 are perpendicular to
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	30.	dkstkfxjh iwf.kZek osQ fy, 500 feyh] okys nw/ osQ 12 iSosQV yk, x;sA oqQy fdruk yhVj 

nw/ yk;k x;k\

	 (1) 	6000	 (2)	 60	 (3) 	6	 (4)	10

	31.	`500 ewy/u dk 8% izfro"kZ dh nj ls 3 o"kZ dk lk/kj.k C;kt fdruk gksxk\

	 (1) 	̀  240 	 (2)	 ` 120	 (3) 	̀  500	 (4)	` 400

	32.	 fuEufyf[kr esa ls lgh dFku pqfu, %

	 (1)	;fn foozQ; ewY;] ozQ;ewY; ls de gS rks ykHk gksrk gSA

	 (2)	ozQ;ewY;] foozQ;ewY; ls de gksus ij gkfu gksrh gSA

	 (3)	ozQ;ewY;] foozQ;ewY; ls vf/d gksus ij ykHk gksrk gSA

	 (4)	foozQ;ewY;] ozQ;ewY; ls vf/d gksus ij ykHk gksrk gSA

	33.	jkseu la[;kfpUg osQ vuqlkj]

		  XVII + IX – IV + C = ?

	 (1) 	72	 (2)	 122	 (3) 	522	 (4)	1022

	34.	24 ?kaVs osQ le;kuqlkj fozQosQV dk ,d eSp 10 cts vkjaHk gksdj 15%45 cts lekIr gqvkA 
eSp 12 ?kaVs osQ le;kuqlkj fdrus cts lekIr gqvk\

	 (1) 	4:45	 (2)	 3:45	 (3) 	2:45	 (4)	15:45
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	30.	 12 packets of milk of 500 ml each were brought on occasion of Kojagiri 
Pournima. Find out how many litres of milk were brought.

	 (1) 	6000	 (2)	 60	 (3) 	6	 (4)	10

	31.	 At a rate of 8 P.C.P.A, what will be the interest for 3 years on the principal ̀  500?

	 (1) 	̀  240	 (2)	 ` 120	 (3) 	̀  500	 (4)	` 400

	32.	 Which of the following statements is true?

	 (1) 	If cost price is greater than selling price, then there is a profit.

	 (2)	 If selling price is greater than cost price, then there is a loss.

	 (3) 	If selling price is less than cost price, then there is a profit.

	 (4)	 If cost price is less than selling price then there is a profit.

	33.	 According to Roman numerals.

		  XVII + IX – IV + C = ?

	 (1) 	72	 (2)	 122	 (3) 	522	 (4)	1022

	34.	 According to the 24-hour clock, a cricket match started at 10 o'clock. What 
will be the time according to 12-hour clock, if the match is ended at 15:45?

	 (1) 	4:45	 (2)	 3:45	 (3) 	2:45	 (4)	15:45
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	35.	,d taxy esa ccwy ds 15%] lkxkSu osQ 45%] cjxn osQ 20% rFkk 'ks"k tkequ osQ o`{k 

gSaA ;fn taxy esa oqQy 5000 o`{k gksa rks tkequ osQ fdrus o`{k gksaxs\ 

	 (1) 	2750			   (2)	1500

	 (3) 	1000			   (4)	750

	36.	6 ?kaVk 52 feuV = ________________ feuV

	 (1) 	412	 (2)	360

	 (3) 	512	 (4)	422

	37.	 fuEufyf[kr esa ls dkSu lk dFku vlR; gS\

	 (1) 	100 dk 20 izfr'kr = 20	 (2)	200 dk 10 izfr'kr = 20

	 (3) 	400 dk 5 izfr'kr = 20	 (4)	300 dk 10 izfr'kr = 20

	38.	4, 5, 6, 0, 8 bu vadksa ls] izR;sd dk ,d ckj iz;ksx djds cuus okyh cM+h ls cM+h rFkk 

NksVh ls NksVh la[;kvksa osQ ;ksxIkQy dk vk/k fdruk gksxk\

	 (1) 	1,27,108	 (2)	45,554

	 (3) 	63,554	 (4)	91,108
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	35.	 In a forest, there are 15% Babul trees, 45% teakwood trees, 20% Jackfruit  

trees and remaining are Jamun trees. If there are 5000 trees in all, then tell 

the number of Jamun trees.

	 (1) 	2750			   (2)	1500

	 (3) 	1000			   (4)	750

	36.	 6 hours 52 minutes = ________________minutes.

	 (1) 	412			   (2)	360

	 (3) 	512			   (4)	422

	37.	 Which of the following statement is false?

	 (1) 	20 percent of 100 = 20	 (2)	10 percent of 200 = 20

	 (3) 	5 percent of 400 = 20	 (4)	10 percent of 300 = 20

	38.	 What will be the half of the number obtained on adding the biggest number 
and smallest number formed by using the digits 4, 5, 6, 0, 8 only once?

	 (1) 	1, 27, 108	 (2)	45,554

	 (3) 	63, 554	 (4)	91,108
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	39.	;fn p = 3, t = 2 gks rks

		  p × p + 2 × p × t + t × t = ?

	 (1) 	21	 (2)	 25	 (3) 	24	 (4)	17

	40.	 fdlh ewy/u ij jksfgr dks 7 izfr'kr izfro"kZ dh nj ls 3 o"kZ dk lk/kj.k C;kt `2520 

feyk rks og ewy/u crkb,%

	 (1) 	̀ 15,000	 (2)	`21,600

	 (3) 	̀ 1,500	 (4)	`12,000

	41.	0, 5, 6, 7 bu vadksa ls izR;sd dk ,d ckj iz;ksx djds rhu vadksa okyh vf/d ls vf/d 

fdruh le la[;k,¡ cusaxh\

	 (1) 	10	 (2)	 12	 (3) 	14	 (4)	18

	42.	 8.8 + 8.08 + 8.008 + 8.0808 + 88.8 = ?

	 (1) 	88.8888			   (2)	88.7688

	 (3) 	121.7688			   (4)	821.88
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	39.	 If p=3, t = 2 then

		  p × p + 2 × p × t + t × t = ?

	 (1) 	21	 (2)	25

	 (3) 	24	 (4)	17

	40.	 Rohit received an interest of ̀  2520 at the rate 7 P.C.P.A after 3 years. Find 
out the principal for which he received this interest.

	 (1) 	̀ 15,000	 (2)	`21,000

	 (3)	 `1,500	 (4)	`12,000

	41.	 How many 3-digit even numbers will be formed using the digits 0, 5, 6, 7 
only once?

	 (1) 	10	 (2)	12

	 (3) 	14	 (4)	18

	42.	 8.8 + 8.08 + 8.008 + 8.0808 + 88.8 = ?

	 (1) 	88.8888	 (2)	88.7688

	 (3) 	121.7688	 (4)	821.88
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	43.	?kM+h esa pkj cts gSaA bl le; ?kaVs ,oa feuV dh lwb;ksa osQ chp fdl izdkj dk dks.k curk gS\

	 (1) 	vf/d dks.k	 (2)	le dks.k

	 (3) 	U;wu dks.k	 (4)	iw.kZ dks.k

	44.	 17
8   23

6  es ckWDl osQ LFkku ij dkSu&lk fpUg gksxk\

	 (1) 	>	 (2)	 <	 (3) 	=	 (4)	∧

	45.	^ukS yk[k ukS* dks vadksa esa fy[kus ij izkIr gksxk%

	 (1) 	9,00,009	 (2)	90,00,009

	 (3) 	9,00,00,009	 (4)	90,009

	46.	 fdlh daiuh us nhokyh osQ volj ij vius 60 deZpkfj;ksa dks izfr O;fDr vk/k  
fdyks xzke feBkbZ forfjr dhA ;fn feBkbZ dh dher `320 izfr fdyksxzke gks] rks daiuh 
us feBkbZ [kjhnus osQ fy, fdrus :i;s [kpZ fd;s\

	 (1) 	̀ 19,200			   (2)	`10,600

	 (3) 	̀ 9,600			   (4)	`9,200

	47.	^ukS gtkj ukS lkS* dk ukS izfr'kr fdruk gksxk\

	 (1) 	891	 (2)	881

	 (3) 	991	 (4)	999
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	43.	 In a clock, what type of angle is formed between the hour hand and minute 
hand at 4 o'clock?

	 (1) 	Obtuse angle	 (2)	Right angle

	 (3) 	Acute angle	 (4)	Straight angle

	44.	 Put the appropriate sign in the box.

		  17
8   23

6
	 (1) 	>	 (2)	 <	 (3) 	=	 (4)	∧

	45.	 Write the number 'ninety lakh and nine' in figures.

	 (1) 	9,00,009	 (2)	 90,00,009

	 (3) 	9,00,00,009	 (4)	 90,009

	46.	 A company distributed half kg. of sweets to each of its 60 employees on the 
occasion of Diwali. If the sweets were purchased at the rate `320 per kg, 
then what was the expenditure made by the company?

	 (1) 	̀ 19,200	 (2)	`10,600

	 (3) 	̀ 9,600	 (4)	`9,200

	47.	 What will be nine percent of nine thousand and nine hundred?

	 (1) 	891	 (2)	881

	 (3) 	991	 (4)	999
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	48.	uhps nh xbZ vko`Qfr dh ifjfefr fdruh gS\

	 (1) 	19.5

	 (2)	 23.5

	 (3) 	14.5	

2

3
3.5

2

4

	 (4)	 18.5

	49.	   5 ×   5 = 13225 esa ;fn izR;sd okWDl esa leku vad gks] rks og vad 

dkSu&lk gS\

	 (1) 	4	 (2)	 3	 (3) 	2	 (4)	1

	50.	la[;k 5,45,035  esa nl gtkj osQ LFkku okys rFkk ngkbZ osQ LFkku okys vadksa osQ LFkkuh; 

ekuksa esa varj fdruk gS\

	 (1) 	39,990	 (2)	39,000

	 (3) 	39,970	 (4)	39,770

	51.	;fn fdlh la[;k esa 25 ls Hkkx nsus ij HkkxIkQy 13 ,oa 'ks"kIkQy 22 vkrk gks] rks og l[;k 

dkSu&lh gS\

	 (1) 	355	 (2)	365

	 (3) 	350	 (4)	347
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	48.	 What will be the perimeter of the figure given below.

	 (1) 	19.5

	 (2)	 23.5

	 (3) 	14.5	

2

3
3.5

2

4

	 (4)	 18.5

	49.	 If the digit is same in all the boxes, then find the digit.

		    5 ×   5 = 13225

	 (1) 	4	 (2)	 3	 (3) 	2	 (4)	1

	50.	 In the number, 5,45,035, what will be the difference between the place value 
of the digit at Ten thousands place and place value of the digit at tens place?

	 (1) 	39,990	 (2)	39,000

	 (3) 	39,970	 (4)	39,770

	51.	 On dividing a number by 25, we get quotient 13 and remainder 22. what 
will be the number?

	 (1) 	355	 (2)	365

	 (3) 	350	 (4)	347
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	52.	/us'k us `50 o `100 okys izR;sd osQ 8 uksV cSad esa nsdj ml jkf'k osQ cnys `10 osQ 
uksV ek¡xsaA mls `10 okys oqQy fdrus uksV feysaxs\

	 (1) 	80	 (2)	 100	 (3) 	120	 (4)	110

	53.	39 osQ lcls cM+s foHkktd esa 27 osQ lcls NksVs foHkktd dks tksM+us ij izkIr la[;k osQ 

lHkh foHkktdksa dk ;ksxIkQy fdruk gksxk\

	 (1) 	80	 (2)	 90	 (3) 	100	 (4)	89

	54.	 7
5 × 5

7 + 1 = ?

	 (1) 	36
35	 (2)	 13

35	 (3) 	2	 (4)	1

	55.	5656 ÷ 8 esa] ;fn Hkktd ,d ls de fd;k tk; rks HkkxIkQy fdruk c<+ tk;sxk\

	 (1) 	1	 (2)	 10	 (3) 	100	 (4)	101

	56.	,d xkM+h izfr ?kaVk 80 fdyksehVj dh nwjh r; djrh gSaA fuEufyf[kr esa ls dkSu&lk dFku 

xyr gS\

	 (1)	xkM+h ,d ?kaVs esa 80 fdeh nwjh r; djrh gSA

	 (2)	xkM+h vk/s ?kaVs esa 40 fdeh nwjh r; djrh gSaA

	 (3)	xkM+h ,d ?kaVs 25 feuV esa 100 fdeh nwjh r; djrh gSA

	 (4)	xkM+h ,d ?kaVs 45 feuV esa 140 fdeh nwjh r; djrh gSA
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	52.	 Dhanesh went to a bank with 8 notes of ` 50 and ` 100 each and asked for 
notes of  ` 10 in return. How many notes of ` 10 would Dhanesh receive?

	 (1) 	80	 (2)	 100	 (3) 	120	 (4)	110

	53.	 Find the sum of all the divisors of the sum of the highest divisor of 39 and 
the lowest divisor of 27.

	 (1) 	80	 (2)	 90	 (3) 	100	 (4)	89

	54.	
7
5  × 

5
7  + 1 = ?

	 (1) 	
36
35 	 (2)	

13
35 	 (3) 	2	 (4)	1

	55.	 If the divisor of the division '5656 ÷ 8' is reduced by 1, then by how much 
will the quotient increase ?

	 (1) 	1	 (2)	 10	 (3) 	100	 (4)	101

	56.	 If a car travels at 80 km. per hour, then which of the following statement 
is false?

	 (1) 	Car covers a distance of 80 km. in one hour.

	 (2)	 Car covers a distance of 40 km. is half an hour.

	 (3) 	Car covers a distance of 100 km. is one hour 25 minutes.

	 (4)	 Car covers a distance of 140 km. in one hour 45 minutes.
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	57.	12 ehVj] 3 feyhehVj dks n'keyo fHkUu esa dSls fy[ksaxs\

	 (1) 	12.03 ehVj	 (2)	12.003 ehVj

	 (3) 	12.3 ehVj	 (4)	12.0003 ehVj

	58.	 2 nLrk dkxt $ 5 ntZu dkxt ¾ fdruk dkxt\

	 (1) 	108	 (2)	100

	 (3) 	480	 (4)	88

	59.	 fHkUu 6
18 esa 

6
18 fdruh ckj tksM+k tk; fd ;ksxIkQy 3 izkIr gks\

	 (1) 	9 ckj	 (2)	18 ckj

	 (3) 	8 ckj	 (4)	12 ckj

	60.	tkWu us ,d eksVj lkbfdy `20]000 esa [kjhndj `25]000 esa csp nhA bl O;kikj esa mls 

fdrus :i;ksa dk ykHk ;k gkfu gqbZ\

	 (1) 	̀  2000 YkkHk	 (2)	` 5000 YkkHk

	 (3)	 ` 5000 gkfu	 (4)	` 2000 gkfu
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	57.	 How will you write, 12 m 3 mm in decimal form?

	 (1) 	12.03 metre			   (2)	12.003 metre	

	 (3) 	12.3 metre	 (4)	 12.0003 metre

	58.	 2 quires (dasta) papers + 5 dozen papers =  papers.

	 (1) 	108	 (2)	100

	 (3) 	480	 (4)	88

	59.	 For getting 3, as a sum, how many times will you add 6
18 to 

6
18 ?

	 (1) 	9 times	 (2)	18 times

	 (3) 	8 times	 (4)	12 times

	60.	 John purchased a motor cycle for ` 20,000 and sold it for ` 25,000. Did he 
make a profit or loss and how much?

	 (1) 	Profit of ` 2000	 (2)	Profit of ` 5000

	 (3) 	Loss of ` 5000	 (4)	Loss of ` 2000
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	61.	 layXu vko`Qfr dks eksM+dj ?ku cukus ij 5 vad okys i`"B osQ layXu i`"Bksa ij dkSu&lk 

vad ugha gksxk\

1
4 6 2

5
3

	 (1) 	4	 (2)	 1	 (3) 	2	 (4)	3

	62.	6 lseh- pkSM+kbZ okys ,d vk;r dh ifjfefr 34 lseh gSA bl vk;r dh yackbZ dh nqxquh 

Hkqtk okys oxZ dk {ks=kIkQy fdruk gksxk\

	 (1) 	576 oxZ lseh-	 (2)	484 oxZ lseh-

	 (3) 	441 oxZ lseh-	 (4)	169 oxZ lseh-

	63.	48 eh- yacs o 12 eh- pkSM+s fdlh gkWy esa 64 oxkZdkj VkbYl yxrh gSA izR;sd VkbYl dh 

ifjfefr fdruh gS\

	 (1) 	9 eh-	 (2)	 81 eh-	 (3) 	8 eh-	 (4)	12 eh-

	64.	o"kZ 2016 osQ igys fnu ;fn 'kqozQokj gks rks o"kZ 2017 esa ^ejkBh Hkk"kk fnol* fdl fnu 

gksxk\

	 (1) 	lkseokj	 (2)	jfookj

	 (3) 	eaxyokj	 (4)	'kfuokj
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	61.	 The net of a cube-shaped number die is given below. Which number will 
not come on the adjacent surface of the surface which has number 5 on it?

1
4 6 2

5
3

	 (1) 	4	 (2)	 1	 (3) 	2	 (4)	3

	62.	 Perimeter of a rectangle with breadth 6 cm. is 34 cm. What will be the 
area of the square with the side equal to the twice of the length of the given 
rectangle?

	 (1) 	576 sq. cm.	 (2)	 484 sq. cm.

	 (3) 	441 sq. cm.	 (4)	 169 sq. cm.

	63.	 A hall with length 48 m. and breadth 12 m. requires 64 square-shaped tiles. 
What will be the perimeter of each tile?

	 (1) 	9 m.	 (2)	 81 m.	 (3) 	8 m.	 (4)	12 m.

	64.	 If it is friday on the first day of year 2016, then on which day will Marathi 
Language day fall in the year of 2017?

	 (1) 	Monday	 (2)	Sunday

	 (3) 	Tuesday	 (4)	Saturday
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	65.	jkgqy us lqHkk"k dks lk/kj.k C;kt dh fdlh nj ls `15]000] 3 o"kZ osQ fy, fn,A ;fn 

lqHkk"k us C;kt osQ :i esa mls `4500 fn,] rks C;kt dh nj fdrus izfr'kr izfro"kZ Fkh\

	 (1) 	10%	 (2)	15%

	 (3) 	9%	 (4)	8%

	66.	27 lSdM+k × 3 ngkbZ – 5 bdkbZ = ?

	 (1) 	80,885	 (2)	80,085

	 (3) 	81,985	 (4)	80,995

	67.	;fn fdlh la[;k esa 16 osQ ctk; 10 ls xq.kk fd;k tk,] rks xq.kuIkQy 30 de gks tkrk 

gSA og la[;k dkSu lh gS\

	 (1)	5	 (2)	6

	 (3)	8	 (4)	10

	68.	 fdlh nqdkunkj us ;fn 50 fdyksxzke Tokj esa ls 40 fdyksxzke 250 xzke Tokj csp fn;k] 

rks mlds ikl fdruk Tokj 'ks"k cpsxk\

	 (1)	10 fdyksxzke	 (2)	10 fdyksxzke 250 xzke

	 (3)	9 fdyksxzke 250 xzke	 (4)	9 fdyksxzke 750 xzke
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	65.	 Rahul lended ` 15000 to Subhash for 3 years at some rate. If Subhash gave 
Rahul an interest of ` 4500, then what was the rate of interest P.C.P.A ?

	 (1) 	10%	 (2)	15%

	 (3) 	9%	 (4)	8%

	66.	 27 Hundreds × 3 Tens - 5 units = ?

	 (1) 	80,885	 (2)	80,085

	 (3) 	81,985	 (4)	80,995

	67.	 When a number is multiplied by 10 instead of 16, its product decreases by 
30, then find the number.

	 (1) 	5	 (2)	6

	 (3) 	8	 (4)	10

	68.	 A shopkeeper sold 40 kg. 250 g. of Jowar out of 50 kg. How much Jowar is 
left with the shopkeeper?

	 (1) 	10 kg.	 (2)	10 kg. 250 g.

	 (3) 	9 kg. 250 g.	 (4)	9 kg. 750 g.
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	69.	?ku osQ dksj] ?ku osQ 'kh"kZ fcanqvksa rFkk i`"Bksa osQ ;ksxIkQy ls fdrus de ;k vf/d gSa\ 

	 (1) 	2 vf/d	 (2)	 4 de	 (3) 	2 de	 (4)	4 vf/d

	70.	 fuEufyf[kr lafozQ;k osQ fy, okWDl esa ozQe ls vkus okys fpUgksa dk mfpr i;kZ; pqfu,%

		 48   6    2   5   5

	 (1) 	=, ×, +, –	 (2)	÷, +, –, =

	 (3) 	÷, +, +, =	 (4)	÷, ×, +, =

	71.	,d cxhps esa oqQy 60 isM+ gSaA ;fn buesa ls 1
3 isM+ vke osQ] 1

2 isM+ ukfj;y osQ rFkk 'ks"k 

isM+ dVgy osQ gksa rks dVgy osQ fdrus isM+ gSa\

	 (1) 	10	 (2)	 20	 (3) 	30	 (4)	40

	72.	18 × 4 – 6  70 × 2 ÷ 2 – 4 es ckWDl osQ LFkku ij dkSu&lk fpUg gksxk\

	 (1) 	∧	 (2)	 >	 (3) 	<	 (4)	=

	73.	o"kZ 2016 esa fozQlel dh NqV~Vh jfookj dks Fkh rks o"kZ 2017 esa ^egkjk"Vª fnol* fdl 

fnu jgsxk\

	 (1) 	lkseokj	 (2)	jfookj

	 (3) 	eaxyokj	 (4)	cq/okj
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	69.	 By how much is the edges of the cube and sum of the vertices and faces of 
cube is more or less?

	 (1) 	more by 2	 (2)	 less by 4	 (3) 	less by 2	 (4)	more by 4

	70.	 By which order of operations boxes will replace, to get the balanced equation.

		  48   6    2   5   5

	 (1) 	=, ×, +, –	 (2)	÷, +, –, =

	 (3) 	÷, +, +, =	 (4)	÷, ×, +, =

	71.	 A garden has 60 trees in all. Out of which 
1
3  trees are of mango, 

1
2  trees are 

of coconut and remaining are Jackfruit trees. How many jackfruit trees 
are there in the garden?

	 (1) 	10	 (2)	 20	 (3) 	30	 (4)	40

	72.	 Put the appropriate sign in the box.

		  18 × 4 – 6  70 × 2 ÷ 2 – 4 

	 (1) 	∧	 (2)	 >	 (3) 	<	 (4)	=

	73.	 If Christmas falls on Sunday of the year 2016 then on which day will 
Maharashtra Day fall in the year 2017?

	 (1) 	Monday	 (2)	Sunday

	 (3) 	Tuesday	 (4)	Wednesday.
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iz'u 74 ls 75 osQ fy, % fuEufyf[kr fp=kkys[k esa nh x;h tkudkjh osQ vk/kj ij iz'uksa osQ 

mÙkj nhft,%

ilanhnk fo"k; fon~;kFkhZ la[;k

xf.kr     

ejkBh    

vaxzsth   

foKku     

	             	 (iSekuk : 1  = 35 fon~;kFkhZ)

	74.	lkfj.kh esa fon~;kfFkZ;ksa dh oqQy la[;k fdruh gS\

	 (1) 	470	 (2)	450

	 (3) 	350	 (4)	490

	75.	xf.kr ilan djus okys fon~;kfFkZ;ksa dh la[;k vaxzsth ilan djus okys fon~;kfFkZ;ksa dh la[;k 

ls fdruh vf/d gS\

	 (1) 	245	 (2)	105

	 (3) 	115	 (4)	255
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Instructions for Q. Nos. 74 to 75 : Observe the pictograph given below and 
answer the questions.

Favourite subject Number of students.

Mathematics     

Marathi   

English   

Science    

		  [Scale : 1  = 35  students]

	74.	 What is the total number of students?

	 (1) 	470	 (2)	450

	 (3) 	350	 (4)	490

	75.	 By how much the number of students who like Mathematics is greater than 
the number of students who like English?

	 (1) 	245	 (2)	105

	 (3) 	115	 (4)	255
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